Name:

Block:

Periodicity Homework

1. ATOMIC/IONIC RADIUS REVIEW

d.

When families of the periodic table are examined, what trend is observed for atomic size?
Atomic size ncreases down A Qranp (Fanily)

Phosphorus is smaller than Aluminum even though Phosphorus has more valence electrons.

Why? | ;
V' P as more profons Hoan Al thus a strovger
athachon resultvig n & syyulllec AHont .
Circle the atom or ion that has the biggest radius then explain why:
i. Fo mofe pYotons = Stronger dttrackion = sSyva ller atoyn

i. Mors yue E levels = Wedker artrachip, - bigeaer afom

Arrange the following atoms in order of increasing atomic size:

i ¢,Br,l Cl,Br, T
i. Ca,Ba,Ra Car, B, BA

i. S,PS S, P,S SMA%L;EST
e. Draw the trend of increasing atomic radius using an - :}
arrow(s) on the periodic table 4/
2. IONIZATION ENERGY REVIEW ”
a. What does ionization energy mean: 2ice ESTM%/ i
, 21T7¢ :
E needed to (einove AT
an e~ from an dtom
a. Circle the atom that has the highest ionization energy then explain why:
iU or@ more v = WOHC??(G(%W&C{/]QV\ =more |E
i. (M Sr | i : - ) .
i Mgorsr |ess € levels = stonger attrzchon = move |E
iii. Gaor@ Y\/Ié{g izﬂ" z SWQW%@{ aMdO{’IJVZ - mﬁ?fe IE H" %;}
aAnee
v. GaorB) 16ss E levels = Stranger attrachon = € 1€ Wj £
b. Draw the trend of increasing ionization using an i . ] 37
arrow(s) on the periodic table T A o T
3. ELECTRONEGATIVITY REVIEW QLQ
c. What does electronegativity mean: Wesr !‘E
Ability 40 Wrm«@ owlother ‘
AoW'S €7\ A loond

d. Circle the atom that has the highest electronegativity then explain why:

i L or@ Wigre e+ = Stovner athaction = Wiore EN



i. @or sriess e opvels ¢ 5{’@@?‘}5)3{ aAractian - More N
lii. Ga Or@ Moce pr = Song)er arackion = More €N
s G“O less £ levels = %)rrwger JWachm more EN W)\;

e
e. Draw the trend of increasing electronegativity using /;
an arrow(s) on the periodic table BRI '
5]V 23 R —— o
EN ' 1 T Nmﬂxg:

!

4. ION SIZE CHANGE (use your Trend: lon Charge in the main block elements note sheet)
a. Label the atoms below as either Sodium or as Sodium lon:

when atoms lose
€7, they otk smaller

Nat

Label the atoms below as either Oxygen or as Oxygen lon: ;
O When atoms gam
" ey ger bigger

c. Theionicradius of Aluminum (AI*?) is 54 pm while the ionic radius of Sodium (Na*l) is 102pm.
Explain why Aluminum ions have smaller radii than Sodium ions even though both ions have
the same electron configuration.

AL has moce protons than Nat, Hus A)3+

has more atvachve Force ;s which resulbs in a
d. Arrange the following in order of increasing ionic size. Sialler AYona
= |,Br,CI

C\7, By~

. P3-,SZ"C'" Ci')g'z,’; PB....

»  Ba%, Sr2* Ca?* . ,
Cazr, Sr*, Bazt



